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Explain the following
(i) Le-chatelier's principle
(i1) Activation energy

frr=faRaa @)1 aarear &)
() <t dafag fFram
(il) <fspaor et

9. When one mole of ethyl alcohol and one mole of
acetic acid reacts together, in equilibrium % mole

ethyl acetate is obtained. Calculate equilibrium
constant. 6

G4 Udh Hicl SATSel 3odblad a2l Ud Hidl
wifes vl 3o A ufafeear axcdl € aF

mew%ﬁagwqﬁéamﬁl
A ReRie d1d R |

OR(3721d)

Describe any one method for the manufacture of
Sodium carbonate.

AfSTgq draidec & Saared o) fedl v fafer
&b qof B |
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Time : 3Hrs. Sem. IV - Ceramic

Chem. for Ceramic Engg.
Full Marks :70

Pass Marks : 28
Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥l @ IR T, UAS U BT A 13752 |
Answer all Five questions from Group B, each question
carries 4 marks.

qu-B & wft ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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5. Complete the following chemical equations.

(i)  wReR e IRY &1 e g3

MnO, +H' +Fe? -» 4
. . (a1) CacCo,
fretifea afievor s guf & | (4) CasO,
MnO, +H" +Fe? -> (@) (CaSO,),H,0
OR(3121dT) (8) CasO,.2H,0
What happens when Fe'? reacts with acidified (i) H,PO, isa
Cr,0,” (a) Monobasic acid
(b) Dibasic acid
1 BaT @ w9 Fe'? @ ufafar srefraga (c) Tribasic acid
Cr,0,2 & &Y wireft 2 2 (d) None of these

(i)  H,PO, @ U®

6. Calculate the number phase (P), component (C) @) TP R

and degree of freedom (F) for the system.

CaCO, (s) = CaO (s) + Co, (g) 4 (@) femRe® s
9% 3if% B (P), d¥A<E (C) do ¥ oifw (w) B aer
fiheH (F) @ IVFT 39 @l & g & | (?) 39 A &Ig LI |

CaCO; (s) = CaO (s) + Co, (g) _
(V) Oxidation number of Mn is KMnO, is

OR(3121d1) (a) +4
+
Calculate the pH of 10® M NaOH solution. ©®)+7
(c) +9
10° M NaOH =fdl & pH 9T @Y IOET &Y | (d) None of these

P.T.O
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x0) o8 ficdl @ o feas g™ mfdya
Al B ?
(31) D
@) =1
(|) =gr=ar
(g) gss a-r@

GROUPB

Answer all Five Questions.

i ufg gl & SR ©
2.

4x5 =20

What are the important assumptions of the kinetic

theory of gas ? 4

| & sEdfes fgra o1 W@ IReaY
T8 ?

OR(3721d)

Differentiate between temporary and permanent
hardness of water.

g Ud HolR ol A 3} W HIfY |

N4045

(vi)

(vii)

(vii)

(viii)

5 1613402

U qI¢] 9911 & sais &l old gcd 9@
gl IR @1 dT @, 99 e d 9
fd ST 98 dxar © ?

(31) gss a-ra

(@) zar=Tar

(4) waq &1 raw

(?) snfefadier &1 g |

Formula of green vitriol is :
(a) FeSO,.7H,O

(b) CuSO,.7H,0

(¢) ZnS0O,.7H,0

(d) None of these

N U T A 2 -
(31) FeSO,.7H,0
(§) CuSO,.7H,0
(¥) ZnSO,.7H,0
(@) 37 4@ PIg 78|

Find the pH of 0.0001 M NaOH solution is:
(a)3

(b) 4

(c) 10

(d) 11

P.T.O
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(xvi)

(xvii)

(xvii)

(xviii)

10 N4045

f=faRaa & o9 < ufafear g9 w®
T 2 ?

@) N,+3H, = 2NH,

(@) PCl= PCL+CL

(&) H,+1,=2HI

(?) 379 & HIg T2I |

A solution which is resistant to pH change
upon addition of an acid or base is called
(a) Indicator

(b) Colloid

(c) Catalyst

(d) Bufter

0T "l & pH &1 A9 30 31dT
T © 9419 9 WY T2 gqoar 8, 98
PHEATAT © -

@) qa»

(3) BIags

(d) SoR®

(]) Iwx

Concentration is generally expressed in :
(a) Gram per litre

(b) Mole per litre

(c) Mole gram per litre

(d) None of these

N4045

x)

(xi)

(xi)

(xii)

7 1613402

ared o &1 T g ¥ ogad
far simar @ -
@) vVt'c

@) Vo

F) PoT

MV
(<) T, — T,

The rise of liquid in a capillary tube is due to:
(a) Viscosity

(b) Surface tension

(c) Osmosis

(d) None of these

DUl <gq 4 5d B gdg b1 HUR
SoAT R fog uR &xar 8 ?

(31) =grTar

(d) gss a-r@

(&) uR=E=or

(]) 379 | HIs T8

Lunar caustic is :
(a) AgCt

(b) AgNO;

(c) NaOH

(d) KOH

P.T.O
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10. Discuss water system on the basis of phase rule.

11.

6
Bl el P AR UR diexX Ried &) a4t
N |

OR(3721d)

What is a first order reaction ? Derive a kinetic
equation for the velocity constants of such a
reaction.

o dife &) ufafear «ar 8 ? o ufafear
& A7 ReRi®d & forv wfas wHfiezor gra
B |

Write notes on any two of the following : 6
(1) Surface tension

(i1) Relation between Kp and K¢

(ii1) Potassium chromate

frfafaa 4 9 53 1 wr fewolt fag -
(i) Yt a9

(i) Kp 3R Kc® dqe

(iii) TrelRrM Hiace

P.T.O
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10. Discuss water system on the basis of phase rule.

11.

6
Bl el P AR UR diexX Ried &) a4t
N |

OR(372rd)

What is a first order reaction ? Derive a kinetic
equation for the velocity constants of such a
reaction.

o dife &) ufafear «ar 8 ? o ufafear
& A7 ReRi®s & forv wfas wHfiezor gra
B |

Write notes on any two of the following : 6
(1) Surface tension

(i1) Relation between Kp and K¢

(ii1) Potassium chromate
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(i) Kp 3R Kc® dqe
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